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B.A. 3rd semester (Honours) Examination, 20lg (CBCS)

Subject: Sanskrit

Paper: CC-V[

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marl<s.

candidates are required to give their answer in their own words
as far as practicable.

1. '4' fuq;q-6, \qqgs 's' frqp-q \xwgqs BTrra-fl (vcgmsdr E{FRI ffi q qqr*+orqr

2xl0=20
?'fuq cqm q-{Es 'qr'frstat cakm EFE €ryfu-T sifr az:{yEs< argu vtll-{ s cq-{-{trtfr
ffi1s 6-6<1'11

tH''-frrilrl:

h-furrr

(a) r'gifr-drqr; qstrtmE *'tqqqr. eilcilfu'dT:?

x-S(RgK q$T<lrcr fr e fu.r ulmifu qm.eq?

(b) qSiiRflqr fu ilq rur aqrf,s qrq q skrqnrqr
xg<fur< K'qq ftsrsK € ei"K tsrc1 TEr 4N Brm=f $T-<t r

(c) Wq{: *q BqTeft{ nqFi qnW
?*& m'f{ Battqlrd-< trtri K;EiF TE sr-<{?

(d) H?i {t"TT vffiim Eg-qAU

TM {iNrq'F{T q+afi Fq <qt err
(e) s-r trE WB:? i5tuT (rs: t{HPf yg:?

qs frr mq ?q< qs Tw{ $T-<{?

(0 ri*rq: s-:? E: qfuhLT: ?

xqr frr ffiF +T ffiffi2

(g) {lcTT t: vA@ q{:qqt E&Z
Tlw.t $tc?-< qR wpqIRrcl ,r-fN"r$-<c<{?

(h) 'q*qfuolEEh'- drEqd tn(?

Please Turn Over
16383

'fu-fi1'- s-tq"tdfrr
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1i) qStkoff qfr erarqr. sfu? wds sTeqrrrer Trc fs,{.?

T$(Rsk otF qflxe 
"rb qv.raF* atq fil

'E'-frrltrtr
'{,-&st?t

ia) 'ereffi ffi grflrfiqTfr Hfu? qr@s erRmrurq cIC 16,{.?
q*Fnrq +sgfr qk+rq qcqr 

"rb ER_s_rrl< qN ffe
(u) dFarrs qtuFFtr: Eft qrc eei rrqrfr? ae ft.gcrtm @zffiFcryr Drlsj rN mqr 6r< Frpqv * A,
(e) *,fuq ffi 6: qqirrR* csrRmEq?

6s, mt{ RSEq qq6rq estrt +c<_qa

6A1 'qrrFrru,',- *+ qfuFr-yqg e+ef: q,:? ,tsEd{a:,- 
sF{{rg Er${ rq?qoaftR,- qitR 

"m?-{ 
qqf fil tqvqq:\3 snqq,cqc<ttr

(e) q'qs (ir: *B: qFcm?

ffi;r qo ce6r m+ cctsa

(0@ffir*.:yre,qffiz
Reru <rqk fo s qfrr.*f m-r{ mH -rffi{ qr-nr {8. err

2. FrFfeifuAE u*g vur*rq \sagcseqrdTdqr tg ryas$Fnr ftrqoqr 5x-t=20ffiRrs ffcs{ TC<l N CiW nrrE ziz.,ri-< B-s-< ne r Ek Tfil. ntr as {Qtno 6a6<;11
(a) v{Erqr riqosTrEqr qrqr{rf,rql

ffiE qQro <It?fi sT<tt
qr-hsfr qrqrrfrafr rSq Efr {fuT: I

qEfr tenT AqT T{6qrT ffirr

.i( Or,

q?*-sfr ffiTn qqi Erqs qqfrr

dql T&J{t uS eqm qRrrf€F:rr

(b) $*tq A*T qlqf 
I

{ftsTet as] cqHlt
tt6qzl fula: T{qI qe{T1,,_ lTqrf{:
'Ery frRs et<,Tt {qt,,_ <.rerf}s
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(c) qr{wwqrrf+(

$Ysl{lr q-$m Fmt 3

os sqifq Wrf{ +rnsiTFI qrtfor q 
t

qqT<mq qtr-* sqqtq qerF< q tt

(d) rtqqlsTqTc-tsn 6i-g I

{]YgFN q-{<'lq $t<'t 3

wd: qRAtoE crqirls rel+(t

ufrqrrrvul* Esq$qss diTft{:rl

(e) {a$ow{rfr: ql?ifli ffi:
tlS{ s EM< x<l qcfu f,r

(D srHssq-fiq-fi paguiei :- qr€qlqf,I( |

qrrsiq-'[fil("lNl fi$tqls- <]'l?[t st<t t

3. sT$rfrHcrq tqqrrrgqrq qAffi+q srrlrm-fl Ysdcw s+t stqtr rox2=20

frex fiffi Efr Rqt cqrp q+fr +r< {t frt-{ EF erem Bs< nte t

'6t-frrTrq;

h'-futl

fifi or+gqTq-s-EEq{ {qqTgmffi tqi E-sq srfrqg eTlEftqillt 2+8=10

s"[iT5'PET tjr <tgltqa fiefr.< qfi't g u'k$IeM qEE]D;It $1.<,tI

Or,

sTqyq f+12 u1u'cegu tqi vqntrqr: eneiranrql 2+8=10

{ .rs'eql f,r a-gu q-{q]r< Ekq< ersK.F{ \Trcq]D-{] $1-3'tl

'q'-frr{1q;' ."t,_fu?t

EItttU E*w elaffiFt qdfrlql

fi-q e -rsflrwr Ks-< +ttrotftfr <flt sc-Ttl 10

Or,

eTefrn-€-q EilcFT* uqveffi< f,(tT{rlqi ftrqtrqr 10

qqftrcq<luaiiItcsGffidls<crcqffief,C[-{{IetftfrI;tFcqr"ttt


